
Factorisation d'Exposants (F)
Décomposez chaque exposants en facteurs.

123 =

185 =

812 =

202 =

223 =

611 =

227 =

1811 =

1712 =

1711 =
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Factorisation d'Exposants (F) Solutions
Décomposez chaque exposants en facteurs.

123 = 12 × 12 × 12

185 = 18 × 18 × 18 × 18 × 18

812 = 8 × 8 × 8 × 8 × 8 × 8 × 8 × 8 × 8 × 8 × 8 × 8

202 = 20 × 20
400

223 = 22 × 22 × 22

611 = 6 × 6 × 6 × 6 × 6 × 6 × 6 × 6 × 6 × 6 × 6

227 = 22 × 22 × 22 × 22 × 22 × 22 × 22

1811 = 18 × 18 × 18 × 18 × 18 × 18 × 18 × 18 × 18 × 18 × 18

1712 = 17 × 17 × 17 × 17 × 17 × 17 × 17 × 17 × 17 × 17 × 17 × 17

1711 = 17 × 17 × 17 × 17 × 17 × 17 × 17 × 17 × 17 × 17 × 17
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1 728

1 889 568

68 719 476 736

10 648

362 797 056

2 494 357 888

64 268 410 079 232

582 622 237 229 761

34 271 896 307 633


